FUBAG moronomna PG 1800T (838248)




HOMEp

o/n KO HaANMMCHOBAHUC KOJI-BO
1 45148-W15001-000 KpBIIIIKA BOJASHOI'O Hacoca 1
2 45109-W15001-000 KOJIBLIO YIJIOTHUTENIbHOE 1
3 90409-W02001-000 maiioa 8x15 8
4 90103-1040-09 Gonr M10x40 4
5 45108-W15001-000 pyKaB 1
6 45107-W15001-000 3ariylIka pe3suHoBast 2
7 45121-W15001-000 IIPOKJIAJKA YIIJIOTHUTEIbHAS 3
8 45111-W15001-000 TpyGa 4" 2
9 45112-W15001-000 raiika ¢pukcanuu COZ,'Z'[I/IHI/ITCHBHOI\;I TpyOBI 2

10A 45145-W15001-000 XOMyT 4" 3

10B 45145-W15002-000 KM 1
11 42003-W15001-000 mtudT npy>kuHHEBI 10%30 1
12 45146-W15001-000 YIUIOTHEHUE MEXaHUYECKOE (KepaMHKa) 1
13 90409-W02001-000 1aiiba riockas amoMuHHeBas 8x16x1.5 4
14 90301-0855 BT M8X55 4
15 90113-1265-N9 BuHT M12%65 4
16 90101-1245-09 Gonr M12x45 4
17 45102-W15001-000 MMITeIIIep 1
18 45119-W15001-000 KOJIBIIO YIIOTHUTEIIBHOE Hacoca 1
19 45103-W15001-000 yIIUTKA 1

20 19210-W15001-000 KOpIyC BOJISIHOI'O Hacoca 1
21 45115-W15001-000 MPOKJIA/IKa YINIOTHUTEIbHAS 1
22 45116-W15001-000 natpyGok 4" 1
23 45114-W15001-000 SKpaH 1
24 90412-G05001-009 6ot M10x30 4
25 45141-W14001-000 raiixa M12 4
26 90412-G05053-001 maii6a Gompiuasi10%30 4
27 41011-G05001-000 aMOpTH3aTOp 4
28 90602-0800-39 raiika M8 4
29 41100-W15004-R16 pama 1
30 raiika M10 4

90608-1000-39




